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M SHEXNS HE=A

el JUHXNASFSHHE AL (BUXASSHUSAIY) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TH < 2t 3,000,000 3,000,000 0
SHEXNS HLEEA 47,500 97,895 A 50,395
DU RSS=HUHEME (A UK PAS S AY) 47,500 97,895 250,395
HEX RE2 243 47,500 97,895 A 50,395
201 L2l 10,400 17,595 AT,195
01 At 22l 10,400 17,595 AT,195
OHLEREZ 22 2 =2 M
60,0003 x 1000 2 *43] 2,400
OHEEZREZ 22 EE= MX 8,000
202 Odl 4,200 1,800 2,400
01 = LH YI 4,200 1,800 2,400
Oz 82 2 A MZ 60,0008 «2H«35 4,200
301 L2 A= 2,900 5,000 A2,100
11IIEHEA S 2,900 5,000 A2,100
ootz &8 32 A3 2,900
— iRy 1,000,000& *1H 1,000
-2 = 4 500,000 x2H 1,000
- & A 4 300,000 »3H 900
402 QI2H X201 A 30,000 60,000 /30,000
01 2I2E 2 A B (RERTH &) 30,000 60,000 /30,000
ootz at =4 A=2e OldEXZ
3,000,000 *100H & 30,000
Hees (M) 2,952,500 2,902,105 50,395
HEHHXES (MUK SR> AIY) 2,952,500 2,902, 105 50,395
e AN ES 2,952,500 2,902,105 50,395
701 JIEtSI HEHES 2,952,500 2,902,105 50,395
01 JIEtSI HE &S 2,952,500 2,902,105 50,395
OLets| i ME3 (HEEZREIRMAUIZ) 2,952,500




